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8.1 Practice Problems

Directions: Write each expression in expenential form.
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Directions: Write each expression in radical form.
B) (4m)*”*  _ 6) (—5x)"/* 7)ynt/? 8) (8y) %/

CEm)

(Fs0

In

\
(ayy

Directions: Find the indicated real nth root(s) of a. Show work.

9)n=3,a=125

10)n=4,a= 256

1)n=4,a=-81

12)n=5,a=-32
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Directions: Simplify. You must SHOW WORKI
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Directions: Solve the equation. Round your answer to two decimal places when apppapriate.
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28) (x +2)" =10 = —2197 29)(x +2) —20 =196 30) x® — 25 = —10 o
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